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QUESTION 1

Which statement is true Microsoft Skype for Business (S4B) interoperability with Cisco Meeting Server? 

A. Calls cannot be place between S4B and Cisco Meeting App (CMA) users. 

B. Chat can be used between A4B and Cisco Meeting App users. 

C. Local Directories can always be used between S4B users and CMA. 

D. Chat can be used between S4B and Cisco Meeting Server Spaces. 

Correct Answer: C 

 

QUESTION 2

Which two addresses represent multicast addresses? (Choose two.) 

A. 224.1.47.5 

B. 240.100.22.3 

C. FF05::1 

D. 2001::1 

Correct Answer: AC 

 

QUESTION 3

Which is a configuration mode through Crisco Spark that allows Zero Touch Meetings (ZTM) and allows a user to utilize
their enterprise phone as the audio or video terminal for Spark calls? 

A. Call Connector 

B. Directory Service 

C. Call Service Connect 

D. calendar Service 

Correct Answer: C 

 

QUESTION 4

Which statement describes the AAA accounting feature? 

A. It cracks the services that users are accessing. 



B. it is the set of attributes that describe what a user is permitted to perform. 

C. It verifies the identity of the person or device attempting to access the Cisco NX0OS device. 

D. It maintains a log containing the utilization of the device\\'s system resources such as memory and CPU. 

Correct Answer: D 

 

QUESTION 5

Refer to the exhibit. You want to restrict access from Host B. Where do you apply the ACL? 

A. to a VTY by using a named ACL 

B. to the outbound interface of the router 

C. to the inbound interface of the router 

D. to the inbound and the outbound interfaces of the router 

Correct Answer: C 

 

 

QUESTION 6

Which advantage does the bidirectional Cisco QSFP 40-GBPs BiDi transceiver provide? 

A. It supports a breakout connection with a 40-gigabit QSFP port on one end that connections to four 10-gigabit SDFP +
ports on the other end. 

B. it supports link lengths up to 40 km over single-mode fiber with duplex line card connectors. 

C. It supports dedicated fabric-extender transceiver modules that connect to fabric links ( that I, links between a fabric
extender and a parent switch). 

D. It enables the reuses of the existing 10-gigabit duplex MMF infrastructure for migration to 40 gigabit Ethernet
connectivity. 

Correct Answer: D 



 

QUESTION 7

Which command can change the sequence of a router boot process? 

A. config-register 

B. configuration-register 

C. conf-register 

D. config-registration 

Correct Answer: A 

 

QUESTION 8

Which description of a vFC interface is true? 

A. It can be associated to more than one VSAN 

B. It must be bound to an FCoE-enabled Ethernet or EtherChannel interface. 

C. It can be associated to a private VLAN 

D. It can be associated to an FCoE VLAN 

Correct Answer: B 

https://www.cisco.com/c/en/us/td/docs/switches/datacenter/nexus5000/sw/fcoe/513_n1_1/b
_Cisco_n5k_fcoe_config_gd_re_513_n1_1/b_Cisco_n5k_fcoe_config_gd_re_513_n1_1_c hapter_0100.html 

 

QUESTION 9

What H.323 functionality exists on the Cisco Meeting Server? 

A. H323-to-SlP Interworking only 

B. H 323 registration and call control only 

C. H.323 registration and H.323-to-SlP Interworking, but no call control 

D. H323 registration, call control and H.323-to-SIP Interworking 

Correct Answer: A 

 

QUESTION 10

What is the maximum number of Expressways that can be clustered? 



A. 9 

B. 6 

C. 5 

D. 2 

Correct Answer: B 

 

QUESTION 11

Which three options describe routers compared to switches? (Choose three.) 

A. use IP address tables for information lookup 

B. concerned with packet forwarding 

C. operate at Layer 3 of the OSI model 

D. operate at Layer 2 of the OSI model 

E. use MAC address tables for information lookup 

F. concerned with the local delivery of frames 

Correct Answer: ABC 

 

QUESTION 12

Refer to the exhibit. Which statement about the output from SW2 is true? 



A. SW1 discovers SW2 as an LLDP neighbor on port Eth1/1. 

B. SW2 discovers SW1 as an LLDP neighbor on port Eth1/1. 

C. SW2 discovers SW2 as an LLDP neighbor on port Eth1/2. 

D. SW2 discovers SW3 as an LLDP neighbor on port Eth1/2. 

Correct Answer: B 
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